Susan is 40 years old. Peter is 2 years younger
than Susan and 3 years younger than Ann. How
old is Ann?

Andrew is 2 years younger than Tom. William is
19. Jack is 4 years younger than William and 2
years older than Tom. How old is Andrew?

A café has 10 indoor tables and 15 outdoor
tables. Each indoor table has 4 chairs, and each
outdoor table has 6 chairs. How many chairs are
there all together?

Paula is 50. Donald is 5 years younger than
Paula and 2 years younger than Tristan. How old
is Tristan?

Jocky is 39. Jim is 3 years older than Jocky and 5
years older than Hana. How old is Hana?

The difference between two numbers is 6. Their
sum is 12. What are the two numbers?

Henry is younger than Kate but older than Bill.
Who is the oldest?

The brown dog is heavier than the yellow dog but
lighter than the black dog. Which dog is the
heaviest?

Williams runs faster than Kimberly but slower
than Ronald. Who runs faster, Kimberly or
Ronald?

The difference between two numbers is 8, and
their sum is 14. What are the two numbers?
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